1+1=2. Is that the only answer...?

RULES:
different letters stand for different numbers

the first letters of the words can’t be zero

normal rules of addition (including carrying over) apply.

Find as many solutions as you can:
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N
E
+

T
W
O
+




O
N
E

T
W
O




T
W
O

F
O
U
R
The following sums can’t be done – why not?  HINTS: Start by thinking about the left hand columns, then see what that does to other columns.  Do some numbers have to be odd, even or zero?
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W
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L
How many solutions can you find to:



H
O
C
U
S
+



B
E
E
R
+



P
O
C
U
S




B
E
E
R

P
R
E
S
T
O



D
R
U
N
K
[image: image1.wmf]Find THE solution (just one!) to:
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The twelve days of Christmas.

According to the song, how many presents was I given on each day?

How many was I given in total on the first and second days together?

1st, 2nd and 3rd days - total presents?

……

How many presents was I given in total over all twelve of the days of Christmas?

[image: image2.wmf]How many presents would I have been given if there had been thirteen days of Christmas?  

What would that make the total number of presents I’d been given?
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